2\_1”)7\#\ J..jdu.d\ jdj.l;j\ d.ALﬁJj
2022/11/ gl (

iy Lo Y1 Jgaall ST 2 J ) Ll

O lalzall Gl paial) 352l dae ol lasdll
1= cdm® | A, m?
| cdm®  cdm?
~ >wR x, By |33k
1Y W | 3Xxf-y+9
Qq -2 I
S 9y ), T ,w >
= g 3/ 2<.._7_f32 5 s
4 ) =yzZ — 2Wfg
-2 = 9 'Z.W.eﬁ / —_

i.a+a =2°
2.!1a+2a = 3&
3.9___+32_+b —yoasD
4.2a+b+3b=20+4b
5. §’+t;+§__i)+3§_ —4a+3b

6.=a+_2_t2+—3_—=c +§€_i+3b <

= ua+ s b+3C X NpXcale

—~




5 o X 75 by (A Lee IS ST (2

— e B =5
1)§cr—0;2_5rc= (= Sy = —

2)(7dm—-9f)+ (15 f —ldm) =
—_— = pet—
— A+ 6P

<N

VR
3)6mx +24d+3(2mx?>-10d) =
. 6r U+ 6~ 30d,

TS mm——

Mk ~6d

o

4) (4b—11c)—(14c+10b) =
=yb-Ng- b \ob

_ —6pasC

—C N\ A
—-7(8m—-6)+4(9m+5) =
-56mMm —\"ﬁ‘\"ﬂévv\-\-’lO

—

= _2om{-62

Page2




- 99 dana 45V Gl bl g Gl Jalal)

1) 4m+6m=10m?2 () —

2)2d+7y=9dy (W) - ﬂlobr?‘j ‘;’;/L(
3) Irf—rf=7rf () S{EcR) oy \,
'2?/\" —_ \'LM /
4) 11T§:-£m®11mg+mg (%) > ./
5) @5)=5—8k (.

. —jkrD =5-26

. ;)Y el
A JEY) Jaase e i b yaa | laie (ST

x+13 Z__@zc)\sb S E ST (1

gl 4 UALTEAD LR NI

3x+2 8 =

2
xX+5 -

3d

S INPNESL (2

b
2 42O +(@d@) ¥
_ 3d +3b A -
q,oA%-—Eb"\

2b+1 b

-

Page3




AV Al polaall dpanedl dal) aal : Gualdd) JaLELY

1. 3 4xy cx=3, y=2

3. I +2hk—(k+1); k= -2, h=5

3
= (—13 F26Y2) ~ C'%ti\
\¥ ~C
—-® = DX 1_:(_;\3

e ™

. —2%

—

—  _12 3+

Page4




ﬁ/\
4. 4¢?>-3(d-5c¢?) :c=3,d= -5

,_36 + 150 :
-~ (18¢ )

5. (p*-4p)-5+d,p=3,d=-1

BETIORENHSR

\%
= (O\“IQ')—\;S

= —=3+5 ':'

% Co. -
, o e Db Lo il ¢ el (il 8 Laiinea 1 uabd) aLAL)
g 2
< 1) uxbu =59U 2) 4nx2npx3n? = 'anqp
(-3))-
2 -10 -
35X ey
2
- 2;4(-3> - 10

= ’8—.‘0 :g

2 B}
=4 (@) -3(-6~i§)> o uC -3d+1SC )z
- 2 &
- d v -3(-fﬁ/ti§\ L aGy -2(5)+58)
_36-3 (-5 - 3L 415 +i35



